CHMI51 Quiz7a  25Pts Spring2010 Name: /2%

Formulas: e=mc? E=hv c=Av AEF=-R, (1 ——1——j Ry=2.178 x 10°"®
non

***SHOW ALL WORK TO RECEIVE CREDIT***

1.(5) What is the energy of a photon of electromagnetic radiation with a frequency of 3.51 x
10" Hz? (c=3.00 x 10® m/s, = 6.63 x 103* J - 5)
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2.(3) Which of the following electron configurations represents an excited state of the
indicated atom?
A) He: ls2
B) Ne: 1s? 2s* 2p°
C) Na: 1s 2s 23" 3s 3p 4s
P: 1s* 2¢* 2p 3s* 3p° 4s'
E) N:1s*2s*2p°

3.(5) What is the wavelength in nm of a photon having a frequency of 26.8 THz? (n= 107,
1 THz= 10" Hz, ¢ =3.00 x 10° m/s, = 6.63 x 10>*J - 5)
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4. (12 Pts) Write out the complete (i.e. start with 1s? ground state electron configuration for each of the
following.

le ¢
a. Se: IS:L asllpg 351' 3P‘ Af‘fl 3‘?1 /F qd,L/

lo 3
o ls* as? apb 3st 3pCys? 3d VPg-"S Yd

He gt dickon)
c. Fe*': [5 9\.5 ;)O 38'3\ 3Pé ’.)JC2 (Z—A’S7L ‘F S



CHM151 Quiz7B  25Pts Spring 2010 Name: J’< Qg/

Formulas: e =mc’ E=hv c=kv AE=-R, (%—%J Ry=2.178x 107*
noom

***SHOW ALL WORK TO RECEIVE CREDIT***

1.(3) Which of the following electron configurations represents an excited state of the
indicated atom?
A) He: s
B) Ne: 1s” 2s* 2p°
C)_ Na: 1s” 25’ 236 35’ 3P2 4s'
P: Is® 2s° 2p° 3s® 3p” 4s'
) N:1s? 25.2 2p’

2(5) What is the wavelength in nm of a photon having a frequency of 20.1 THz? (n=10".
1 THz=10"Hz, ¢ =3.00 x 10° m/s, h =6.63 x 10* ] - 5)
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3.(5) What is the energy of a photon of electromagnetic radiation with a frequency of 4.64 x

10" Hz? (c=3.00 x 10° m/s, h=6.63 x 10°*J . 5) iy T
E=hV= b, éRX/o'g"J‘-ﬁ‘) 469 x10" _(3,08%10

4. (12 Pts) Write out the complete (i.e. start with 1s* ground state electron configuration for each of the
following.
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